2A: 23
™ g
el AS

A

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SHE &2 49,322,479 38,856,922 10,465,557
= 19,350,336
iy 11,081,000
= 18,891, 143
SALCHE (BHES/stEE5YL 2,626,230 2,779,434 153,204
= 220,000
& 2,406,230
ASEEA SHEHY FA 2,626,230 2,779,434 153,204
= 220,000
= 2,406,230
2SN A 70,000 68,263 1,737
201 LErEIH| 47,400 45,815 1,585
01 ArS2t2|tl 3,600 3,600 0
ONARIR £ 3,600
03 EAI2HHI 43,800 42,215 1,585
Ox=M=EX} FE31 S 36,800
O=4&X EE2GA HE L SHEY 7,000
301 LBt A= 22,600 22,448 152
10 SAIAHIBAZ 5,600 5,448 1652
OZ&AA S 5,600
12 JIEIE A2 17,000 17,000 0
OAIAS 17,000
NGOt EMdol= Eel A 155,000 165,000 A 10,000
307 QI2t0IA 145,000 155,000 A 10,000
02 0QI2tAAEH X 145,000 155,000 A 10,000
OFAAR21 823 2Y 145,000
308 AXISHSOIE 10,000 10,000 0
01 XXNHHBIAEXZ 10,000 10,000 0
OM53 XNHItsed 233 10,000
SSO0tAIOF 2 M8 8 23,100 168,800 A 145,700
301 dE8BAZ 16,100 8,500 7,600
07 0QI2toI=2Q| 04yl 14,000 6,700 7,300
OHMb53 HadE SZEX 2IHII2 &It 10,000




SN AT
HE: HAYLCAN (LSS /B BS U
Ol M4SN BAAY =X (9l &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
FENEEECECE 3L 4,000
10 SAHAHIR A3 2,100 1,800 300
OS=0t #H8 Hols S FA0| 2,100
310 =2/0lF 7,000 156,400 149,400
eV EEE 7,000 156,400 149,400
CEEREIEY LRI 7,000
BAA AN AE(ENS) 2 29,000 10,000 19,000
201 L2yl 15,000 10,000 5,000
01 AFR2elt] 15,000 10,000 5,000
OQZ B4l MAHI S 15,000
303 Za3 5,000 0 5,000
NEEE 5,000 0 5,000
OBBAANAEL 22A2 TAD 5,000
308 RHXIEHHSOIH 9,000 0 9,000
NG EEEREES 9,000 0 9,000
OBZAANAL ABZ2H X & 9,000
BAHE 20N AL 4,400 7,900 3,500
303 ma2 4,400 7,900 3,500
01 Za3 4,400 7,900 3,500
ONBAMBRI 2224 Al 4,400
YAT A BB EHLUE (FHEEXH) 100,000 100,000 0
307 eI2tolH 100,000 100,000 0
02 LIABNBE 100,000 100,000 0
OLANABAI S HL HE 100,000
MBI B#RDEASH(2D) 314,330 342,900 28,570
=2 220,000
= 94,330
307 eIztolH 314,330 342,900 28,570
= 220,000
= 94,330
02 PAANDBE 314,330 342,900 28,570
CHEEE It DAL 57,200
2 40,000




SN AT
HE: HAYLCAN (LSS /B BS U
ol A4SHAN BAUY =7 (£ &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 17,200
OBAEBZRNST2 X2 257,130
2 180,000
= 77,130
HADAELZ IAHIE 1 1,800,500 1,827,270 £26,770
308 RHXIEHHSOIF 1,800,500 1,827,270 £26,770
S 1,800,500 1,827,270 A26,770
OBIMWHRLYS H4 1,190,000
oE=IZ I+ 10,500
OLEWHRLYS F4 600,000
BUs HAHY Aol 129,900 89,301 40,599
201 gr2g| 45,500 37,041 8,459
01 AF=aelt] 15,000 37,041 ~22,041
CEEREENIEE T IES== 5,000
OBAANM 25 S HE 10,000
03 A2 Y| 30,500 0 30,500
OBAEOF BA 2 30,500
202 01l 36,400 19,260 17,140
01 =Lyoit] 36,400 19,260 17,140
CEEL-E LR S 6,600
OBBAM YREX S 29,800
203 REXY| 38,000 33,000 5,000
CIEEEEEETY 38,000 33,000 5,000
OBALT-LAUSI| =& 20,000
OBBTINYL AR 15,000
OHIYH ADE FZ 3,000
01 YsBAZ 10,000 0 10,000
10 BAAUZAS 10,000 0 10,000
OBBEOF BA U NG| HA 10,000
MBEY HH(HB2S/HIIS) 27,913,680 27,046,683 866,997
= 17,532,000
= 10,381,680
ME3 HOIZ 28X 1,082,980 541,363 541,617




SA
X XH .
(=

chel:

MEEA HH(BHES/HIIS)
HEH HIIZE X

SA-EFH - SA(SAH) - MREAY - BES Off &F K glgafg BlusZ
MEH HIIE2 S8Xe = 430,000
= 652,980
HOI2ol o8 E X2 523,980 541,363 A17,383
202 OfH| 6,600 6,418 182
01 =LHoIHl 6,600 6,418 182
OXEEs HuE PREa 6,600
308 KHAIEHSOIA 488,330 488,396 166
01 RXNSHHBABES 488,330 488,396 166
OUYHEBLLAY 2 488,330
403 XXEHSKHZ0IH 29,050 46,549 A17,499
N EELEETEREL 29,050 46,549 A17,499
Os%EY, BNE 2HAY 23 29,050
oh® % stmMDl FEH=D) 559,000 0 559,000
=2 430,000
= 129,000
403 XIEHSHZO0IH 559,000 0 559,000
2 430,000
= 129,000
01 MXESHMAZ2E 559,000 0 559,000
OBt® L SHPMUD| HEALY 559,000
=2 430,000
= 129,000
HOISH2IA LSS 26,830,700 26,505,320 325,380
=2 17,102,000
= 9,728,700
JIEHAIDl MelAlE &X(=1) 21,140,800 8,837,050 2,303,750
=2 13,402,000
3 7,738,800
403 RXSHSKHZ0IH 21,140,800 18,837,050 2,303,750
2 13,402,000
= 7,738.800
01 MXESHMAZ2E 21,140,800 18,837,050 2,303,750
OMI| YA HXI(142) 3,399,800
= 2,000,000




SN BAZHD
By MBEY N (RILS/HIIS)

el HIIZ2HMANLES (e &
_ _ _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
[ 1,399,800
OMEII|l A2ZAIE AR (49H2) 7,915,000
= 4,750,000
= 3,165,000
OB MOHE X MUl (6 ) 4,817,800
= 3,706,000
= 1,111,800
OSASMd Il ™MelAlE SEXI(20H4) 887,400
= 522,000
= 365,400
O d HII2 MHelAME X (1HA) 2,386,800
= 1,404,000
< 982,800
ORIIEHIISUHUAKIZAIE HXI(2IH2) 1,734,000
= 1,020,000
= 714,000
sHEHII2HeANE 4X(=32) 4,500,000 5,380,000 A880,000
= 3,000,000
< 1,500,000
403 NXIEHSA=01H 4,500,000 5,380,000 880,000
= 3,000,000
& 1,500,000
01 XXSHIH2EEX 4,500,000 5,380,000 A880,000
O=sUHEHIISH™AIE(40L) 4,500,000
= 3,000,000
[ 1,500,000
S3MESI|BAIE &5(=21) 1,189,900 2,288,270 A 1,098,370
= 700,000
= 489,900
403 [XIEHSAH=0lH 1,189,900 2,288,270 21,098,370
= 700,000
< 489,900
01 AXISHX=2E X 1,189,900 2,288,270 21,098,370
OZSSHESIIBAIZEZ(20HA) 1,189,900
= 700,000
[ 489,900




S BPBBY
B ()8E B (BFE5/0D))
S

9l HHs BIE 2K (Er9): & 2)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
tolerd EX(SZ2E2S/U01) 5,566,804 285,711 5,281,093
= 1,172,336
s 2,000,000
& 2,394,468
HES SIE R]AX 75,729 10,418 65,311
= 44,086
= 31,643
toleEsd MAE 22 9,600 10,418 A818
201 LEHRHH| 1,000 2,000 A 1,000
01 AtR2&cldl 1,000 2,000 A 1,000
OSEFEZAIII A 1,000
202 (Hl 6,600 6,418 182
01 3L LI 6,600 6,418 182
oZd NE==20F RF& 6,600
301 LptEasg 2,000 2,000 0
10 AIAHIE& = 2,000 2,000 0
OZHE2E HiE - HEAMSE S§SEZ 2,000
SE/ALZAMA 2F(=2) 66,129 0 66,129
= 44,086
= 22,043
307 QIZt0IA 22,569 0 22,569
= 15,046
= 7,523
02 glZtFatEx 22,569 0 22,569
OZEXNSEHIII| 2GRS (2 2) 22,569
= 15,046
= 7,523
402 QIZEXE01H 43,560 0 43,560
= 29,040
= 14,520
01 QUAR=2EX 43,560 0 43,560
O=2=EXNSsEIII| EXXE (1) 43,560
= 29,040
< 14,520




SN EATEY
a0l BR(BABS/0))
o9l BAHSE HWEAM e (el &2)
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
HAAST WEAL 22l 10,100 0 10,100
2HSE EAL e 10,100 0 10,100
202 OfHl 6,600 0 6,600
01 =Loit] 6,600 0 6,600
OWEYA NTHY L IFAREX 6,600
01 YuBAZ 2,000 0 2,000
10 SAAUZAS 2,000 0 2,000
OHBAL BSEY L FMLL JIEX 2,000
405 THHF S 1,500 0 1,500
01 KHAYSEFSH] 1,500 0 1,500
OBHZAIL S=FY 2 (bh=FII) 1,500
He HIOIQME NEX A28 AL 5,480,975 275,293 5,205,682
= 1,128,250
2 2,000,000
= 2,352,725
HOIARSIHNGY) 22(21) 942,375 238,875 703,500
= 628,250
= 314, 125
403 TXSHSKHZO0IH 942,375 238,875 703,500
=2 628,250
= 314, 125
01 XXCSHIESE 942,375 238,875 703,500
OHEHIIA RNSI 23 (610H) 942,375
2 628,250
= 314, 125
AHAUOIQUENEX H23 AL 38,600 36,418 2,182
201 er2g| 2,000 0 2,000
01 AtRZelt] 2,000 0 2,000
OHIOI QU EAIY SH | 2,000
202 01l 6,600 6,418 182
01 =00t 6,600 6,418 182
OBLOIQUIEr 2131 YR 6,600
307 QI2t0IF 30,000 30,000 0




SN AL
N [0 uxﬁ(g_kjtt.’_i/EHjl)

ch: A HIOIQNE NS HE23 At (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
02 BlZtFAE=X 30,000 30,000 0
OOt - HEAJIAXIZE S (NGV) A22Y 30,000
ANGVA 2009 Soll EXPO HAIZ A& (2 1) 3,500,000 0 3,500,000
s 2,000,000
& 1,500,000
403 NXISHHSAH201H 3,500,000 0 3,500,000
s 2,000,000
= 1,500,000
01 XXX A2EE 3,500,000 0 3,500,000
OANGVA 2009 =0of EXPO AFSH ™Al ZE 24 El 3,500,000
s 2,000,000
= 1,500,000
ANGVA 2009 Saoll EXPO JHEI(=12) 1,000,000 0 1,000,000
= 500,000
& 500,000
308 AtXISH XSO0l & 1,000,000 0 1,000,000
= 500,000
& 500,000
01 RXHNBINEXZ 1,000,000 0 1,000,000
©ANGVA 2009 =oHEXPO 2 XI& 1,000,000
= 500,000
= 500,000
ANASASBN (BEES/TH) 13,076, 100 8,714,484 4,361,616
= 426,000
s 9,081,000
= 3,569,100
Sae NS 2 474,600 1,347,318 AB72,718
AHAEE T A2 296,600 246,418 50,182
202 Oidl 6,600 6,418 182
01 3UAbI 6,600 6,418 182
OXNAHSEZ0F HREF 6,600
207 Ao 40,000 40,000 0
01 ¢72E9H| 40,000 40,000 0
A= EIN 40,000




SN BRI
M GSALH(BBRS/KO)
Ol 4 [oiEH BH (£ &%)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
307 QI2t0IF 200,000 200,000 0
05 I2PIEa 200,000 200,000 0
oxistEH 2| 200,000
401 ASHILLHY 50,000 0 50,000
01 A& 50,000 0 50,000
ORQSEH ALES 50,000
MENTIR 2 H 178,000 50,900 127,100
201 gr2g| 16,000 0 16,000
01 A zeldl 6,000 0 6,000
OMENH DRE EXIAL 6,000
03 A2 10,000 0 10,000
OMENH LS SINBA 2 10,000
308 KXISASOIH 152,000 48,400 103,600
01 XNASHMBLZES 152,000 48,400 103,600
OMENH DS SIXAY XY 102,000
Ol & - BUE MENKIR B2 50,000
403 XHXISHHISXH2O0IH 10,000 0 10,000
01 XXCHGESE 10,000 0 10,000
LRI RGIEAER Al FY] 10,000
OINE - A2 25 e 796,200 512,166 284,034
= 426,000
= 370,200
OHMEZ TaH0 (2 D) 325,000 144,000 181,000
= 250,000
= 75,000
403 XX SHSKHZ0H 325,000 144,000 181,000
= 250,000
= 75,000
0 RXSAKZLE 325,000 144,000 181,000
OOIMEES THHoE AL 325,000
2 250,000
= 75,000
Ol £ A2 85 113,000 195,000 82,000
|




SN AT
Hal: GHSASH(BBLS/XH0)
Sl OHMS - A2 25 22 (e9: @8
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 YsrBAZ 6,000 6,000 0
12 JlErEAE 6,000 6,000 0
OOIMSE LYFNDX B4 6,000
307 QI2HO0IF 15,000 15,000 0
EIEIETPNE=E S 15,000 15,000 0
O OIMSES UBAANES X 15,000
308 XHXIEHHSOIH 92,000 174,000 82,000
01 XXCSHMBLRES 92,000 174,000 282,000
OO S 290/ X & 12,000
OOMEE T2 4 X8 80,000
M2 2219 X (2D) 112,200 28, 166 84,034
= 66,000
= 46,200
403 XX SIS KH=0H 112,200 28, 166 84,034
=2 66,000
= 46,200
01 XXCHGESE 112,200 28, 166 84,034
OMSCIYs 2relHet 112,200
2 66,000
= 46,200
OIMES PE22IME 2(2D) 100,000 50,000 50,000
= 30,000
= 70,000
307 QI2H0IF 100,000 50,000 50,000
= 30,000
= 70,000
02 PAANBE 100,000 50,000 50,000
OOtMESPEMEHSAHIXIY 100,000
2 30,000
= 70,000
MENHSH S (D) 146,000 95,000 51,000
= 80,000
= 66,000
403 THXISHSKHZO0IR 146,000 95,000 51,000




SN BAZHDY
M xhoist

HEADH(BRRS/XHe)
Sl OHMS - A2 25 22 (£ &%)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
403 XXISHSKHZO0IH 2 80,000
= 66,000
01 XXCSH=SE 146,000 95,000 51,000
OMENABH ZBUH(HSAS =) 146,000
2 80,000
= 66,000
NosRBHAL 25 11,805,300 6,855,000 4,950,300
= 9,081,000
= 2,724,300
REAEHE 0O|AL(2D) 11,805,300 6,855,000 4,950,300
= 9,081,000
= 2,724,300
403 XHXIGHHISXH2O0IH 1,805,300 6,855,000 4,950,300
= 9,081,000
= 2,724,300
01 XXSHI=ESE 11,805,300 6,855,000 4,950,300
OYE MEFBME A 1,690,000
2 1,300,000
= 390,000
OBE 012 1)|MER 2 520,000
2 400,000
= 120,000
OB MEHMEBSEE L MHZY =4 585,000
2 450,000
= 135,000
OYT MEHASHUMHSYE X4 1,300,000
2 1,000,000
= 300,000
OStd +2ARME A 910,000
2 700,000
= 210,000
O3 ESOSMEH=ATE D 21 650,000
2 500,000
= 150,000
0N MEHZRY X4 1,300,000




S BEBBY

M3 NOISEEAE(BEES/TO)
Ol NS ASNMAIL 2= G
_ _ _ HEC
S BB .S (3 H) - NEAIY - HA2 Of) &k 04 e H D=2
= 1,000,000
° 300,000
OPCIH HIMASA XM 1,950,000
s 1,500,000
< 450,000
OLE AES MHZDZ BAH3 2,536,300
s 1,951,000
c 585,300
OLEDNCA SNMHEH X4 364,000
rag 280,000
c 84,000
HMSAAH| (SFE A D) (DIEH/DIEH) 139,665 30,610 109,055
olad 2 AH| 89,830 0 89,830
228 ol1AHHl X& 89,830 0 89,830
101 Q14| 89,830 0 89,830
08 JIEIRBE 4 89,830 0 89,830
OHIOIR2HIE sk H23H AL 89,830
O1=1 72,462
-C= 36,231,000 x2H 72,462
OPIE =, 2,400
B 40, 0002 * 122 %22 960
-2%IF 20,000 x 12 x6H 1,440
e 55,0002 * 122 +204 3,720
O™ HZAH| 130,000 x12& x2H 3,120
OAZreAct 6,530 2 535 A] 24+ 122 522 5,486
OUeIE=H| 50,000 x 128 x2H 1,200
0o 12 At
33,707,000 x1/12%70%*1/30*2H 11! 1,442
Jl2Z&Hl 49,835 30,610 19,225
EA2d Jl23| 49,835 30,610 19,225
201 LBt2d9d| 36,375 16,030 20,345
01 ASR22telb] 34,215 14,194 20,021
OBEAN2Y AtR22t2|H| 34,215
02 22244 2,160 1,836 324




SN ST
Mol ™SR (HZZ D) (JIEHIIE)
el Il =l (£ &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ

CERECIEEECT] 2,160

202 Ofl 12,960 10,080 2,880

01 =Loit] 12,960 10,080 2,880
OFN2Y =0l 12,960

405 THAHF S 500 4,500 A4,000

01 KNOLSEFHSH] 500 4,500 4,000
500




